Algebra 1B

Name: ____________________________

Real World Systems of Equations II
Worksheet

[image: image1.png]1) Sam needs to make a long-distance call from a pay phone. With his prepaid phone card, he will be charged $1.00
to connect and $0.50 per minute. If he places a collect call with the operator he will be charged $3.00 to connect
and $0.25 per minute.

M = the number of minutes T = the total cost ofﬁe call 3
e Using M and T, set up an equation for cost of a phone card call: k ' . m** O 'SQM b T
e Using M and T, set up an equation for the cost of a collect call: S-m * O-ZSM = T

e Solve the system of equations for the values of M and T. M= % I= S- 00

2) Kendra owns a restaurant. She charges $3.00 for two eggs and one piece of toast. She charges $1.80 for one egg

and one piece of toast.
E=eggs T = toast d

s
e Using E and T, set up an equation for the cost of two eggs and one piece of toast: aE"'T 3’ %

e Using E and T set up an equation for the cost of one egg and one piece of toast: E *T = I '80

e Solve the system of equations for the values of E and T. E= g , . ?'0 T =.# 0 o %
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[image: image2.png]3) The cheerleaders sold spirit badges for $5 and ribbons for $2. Each cheerleader was required to sell 20 items.

Jamie collected $76 for 20 items but lost the envelope showing how many of each item she sold.
B = number of badges R = number of ribbons

e Using B and R, set up an equation for the amount of money collected: 66 ¥ cQR -%
B+R=20

® Solve the system of equations for the values of B and R. B= ‘a R= %

e Using B and R. set up an equation for the total number of items sold:

4) At an ice-cream parlor, ice cream cones cost $1.10 and sundaes cost $2.35. One day, the receipts for a total of 172
cones and sundaes were $294.20.
C = number of cones S = number of sundaes

e Using C and S, set up an equation for the total number of items sold: C, + S I q-i
e Using Cand §, set up an equation for the total cost of selling those items: .B ' IO C kaa 35 8_1 &qq ZO

e Solve the system of equations for the values of C and §. C= %X §= 8‘.\




